EARAROBREBRT —5 XN—ZXBISH—F

2021£E108108 (B) 12EHEEE4H

N8 C2—-7#8 C2 UYSZX3Et ‘ (%] B ‘ (5B — | 9 (@) 14000 B
[AXE%€] 1%&:320,00H / 2&:9%,00H  3#&:51,000H ./ 437%&:2,000H 53 :19,000 4
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S — — 4 3 | B 1:30.9 2-2-2-1 [38.6| — 1 468 | JIIBEF (E8)
117|7|¥27—947 5.0 ) 1) |AREZ
RIETPRAT B:LFv—5 ERNS
S HKIBA : -4-4- - ekt (28)
2 6| FIAALAT 4 3 s 1.(351).9 4-4-4-4 | 38.9 6 (4+329) T’IJ%%AEE
RSTART—vx BOF/A4Vavgv TR Z3E
S 4 4 | WTEE 1:32.0 10-8-7-7 |38.4| — 8 46 | HENE (KE)
389 | FFHDIY 56.0 (3/4) (1) | EOATHI—ED
R:vEILDA— B:DIUTUIER Hh &=
N g |83 : 3= = THERE (FE)
A E N i3 Jes 1(.13/22.)1 3-3-3-3 [39.3 4 (4+646) ALy =
RTFRIAVL—Y B:PRIAVF47 A g
= ~ ) — %3 | REES 1:32.4 8-6-6-6 | 39.2| — 5| 404 |HAEE (£
5|8[10| ATANYTY 54.0 (1172 (10) | CPHEEERES
R:T=ILRYY T B:RN=TF7YRUA EvIUy RI7—L4
o IS : -5-5- - FHER (K8)
61111 N=ZxI =R R I ) 1'(322)'8 RS | 98 ’ (‘37) s
R:JOT*R B:Sh—XIFHY v HORS
ve e — = alllEg :33. -7-8- 6| - SHEAREF (£)
7 3INVTYNFFS3S "7 56.0 (11 313/21) AL RS / (4_2(3 i%2a)
RiFVVY/FEF B:I—ILRILAR AFAVRIY R
=~,3) ft 4 | TS 1:33.3 6-10-10-10 [ 39.2 | — 3 44 |EETE (£8)
8 212¥>3 7 54.0 (1 1/4) @) |ERE
Rd—IWRYYT B:b—tYTIxr—1— MEZ Y R
N s B : -9-9- - hEHE (1£8)
9 4| LEYITILT tv 6| FEE 1.(313).5 7-9-9-9 | 39.8 10 (4_324; k%’g;?ﬁ
RANTT—TI B4 b (B #BI-—KL—vavEETr
IS s 4 | Bchig 1:34.0 1-1-1-2 | 4.7| - 2 | 44 | NBEK (EE)
1017| 8| *M¥av+rbA " 56.0 2172 1) (B) ) PN
R:FvFTFUbho—U B:RAYPTISvyva AT BAE
@ 11— —BERIEI
13—7F— 8,7,5,6,1,2,4,10,3,9
20—7+— 8,7,5,6,1,10,3,9,4,2
30—7F— 8,7,5,6,1,10,9,3,4,2
410—F+— 7.8,5,6,1,10,9,3,4,2
0 ILRE
BB 7 1MOH | | 914K 6-7 480MH AR 6-7 1,450 3ER 6-7-9 5,400
B B 7 1004 7-9 5904 o 18 6-7 1,200 3Es 7-6-9 10,1204
6 410 6-9 3,690M oS- 1 7-6 1,620H4
9 370

ABIC OV TRUTEREERRODDZE. THRIIZEL.




